Halbschriftliche Addition

Ubungen
Berechne:
628+ 313:= h95 + 183 =
+ = + =
+ = + =
+ = + =
771+ 163= 749+ 216-=
+ = + =
+ = + =
+ = + =
728 + 2b3 = 749+ 153 =
+ = + =
+ = + =
+ = + =
625+ 239-= 831+ 138:=
+ = + =
+ = + =
+ = + =
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Halbschriftliche Addition

Losungen

Berechne:

628+ 313:= 941

595 +

183 =

778

628 + 300= 928
928+ 10= 938
938 + = 941

771+ 163= 934

595 +
695 +
775 +

749 +

100 =
80=

216 =

695
775
778

965

771+ 100= 871
871+ 60= 931
931+ 3= 934

728 + 253 = 981

749 +
949 +
959 +

749 +

200 =
10=

153 =

949
959
965

902

728 + 200= 928
928+ 50= 978
978+ 3= 981

625+ 239= 864

749 +
849 +
899 +

831+

100 =
50 =

138 =

849
899
902

969

625+ 200= 825
825+ 30= 855
855 + = 864

831 +
931 +
961 +
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100 =
30=

931
961
969
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